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1 The reactants and products of the following equations have become mixed up.
a Cut out and rearrange them to make five symbol equations for the reactions of metals with acids.
b Glue the equations on a sheet of paper and write the correct word equation below each.

	Ca
	+
	2HCl
	(
	Ni
	+
	H2SO4

	CaSO4
	+
	H2
	(
	Mg(NO3)2
	+
	H2

	Co
	+
	2HCl
	(
	Mg
	+
	2HNO3

	Zn
	+
	H2
	(
	NiSO4
	+
	H2

	ZnCl2
	+
	H2SO4
	(
	CoCl2
	+
	H2


2 Since matter cannot be created or destroyed, we need to show the same number of each kind of atom on either side of the arrow in a symbol equation. We also need to show balanced symbol equations. Since we cannot change the formula of a substance, we need to put numbers in front of the substances in an equation. That is the reason that some formulae in question 1 have large numbers in front of them.
	Unbalanced symbol equation

Mg + HCl → MgCl2 + H2

1 × Mg
1 × Mg


1 × H
2 × H


1 × Cl
2 × Cl

3 atoms
5 atoms
	Balanced symbol equation

Mg + 2HCl → MgCl2 + H2

1 × Mg
1 × Mg


2 × H
2 × H


2 × Cl
2 × Cl


5 atoms
5 atoms


Balance the following symbol equations by putting a number in the blank boxes.

c Ni + ( HCl → NiCl2 + H2
d Ba + ( HCl → BaCl2 + H2
e (Na + H2SO4 → Na2SO4 + H2
f Sn + ( HCl → SnCl4 + ( H2
g ( Al + ( H2SO4 → Al2(SO4)3 + ( H2
h ( Fe + ( HCl → ( FeCl3 + ( H2
I can...

· model simple reactions using word and symbol equations

· write word and balanced symbol equations to represent reactions of metals with acids.
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